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B.  Explain different forms of Business Organization. How a Joint Stock Company is different from a
partnership firm?

A The Assets of XYZ Ltd. consisls of Fixed and Cuirent Assets while its current liabilitics comprise of
Bank credil and trade credit with ratio of 2:1. From the following figures relating (o the Company for
the year 2007. Prepare its Batance Sheet showing details of working:

Share Capital - Rs.195000/-
Working Capital (Current Assets - Current Liabilitics) - Rs. 45000/-
Gross Margin - 20%
Inventory Turnover Ralio — 6 times
Average Collection Period — 2 months
Current Ratio - 1.5
Quick Ratio - 0.9
Reserves and Surpluses to Cash - 3
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Ixplain the need for the analysis and interpretation of financial stalements. What are the difterent
lools of analysis?
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